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This is an example of one method
of solving this type of problem.

The number used in the online
[ ) exercise are randomly chosen so
Perimeter ={_96 | cm will be different in many cases.
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This is an example of one
method of solving this type 2
of problem.

The number used in the

online exercise are randomly
chosen so will be different in L]
many cases. Perimeter =D cm

Area = 210 cm?
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< This is an example of one method of
D N solving this type of problem.
The number used in the online
C_

exercise are randomly chosen so will
be different in many cases.

Perimeter = 180 cm
Area = 720 @ cm?
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